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CC Algebra

Cumulative Review #3.3
Show work for all questions for full credit 

& write your answers on the lines provided!!!
(If you feel no work is needed you must explain your reasoning.)

1.  Which function models the relationship shown in the table?

	        x
	      f(x)

	        1
	     100

	        2
	       50

	        3
	       25

	        4
	      12.5

	        5
	      6.25




A.  f(x) = 
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C.  f(x) = 50(2)x





B.  f(x) = 100
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D.  f(x) = 200
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1. ________________

2.  Labor at the car repair shop can be represented by the function:

Total charge for repairs  
[image: image4.wmf][image: image6.png]150, 0<h=1
S0+80h—1), h>1
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If h represents the number of hours worked, what is the charge for a 3-hour car repair?


A.  $150  
B.  $230
C.  $310
D.  $390











2. _______________

3.  Find the area of a rectangle with a length of x2 – 2 and a width of 2x2 – x + 2.

3. ________________

4.  The cost of operating Jelly’s Doughnuts is $1600 per week plus $.10 to make each doughnut.  

      a)  Write a function, C(d), to model the company’s weekly costs for producing d doughnuts.











4a.  _____________

       b)  What is the total weekly cost if the company produces 4,000 doughnuts?











4b. _____________

5.  Sketch the graph of all of the solutions to the equation y = 
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5.
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(Don’t forget to include a table.)
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